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Exam 

Pattern

(Tier-I)

Note: There will be a negative marking of 1 mark for each wrong answer in Session-II and there will be no 

negative marking in Session-I.
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Number Systems,

Decimals and Fractions 

Simplification, 

Percentages, 

Ratio and Proportion, 

Averages, 

Simple Interest

Profit and Loss, 

Discount,

Tables and Graphs, 

Mensuration, 

Time and Distance,  

Time and Work, 

Square and Square roots .

LCM and HCF

Lines and Angles
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V B O D M A S

•The word VBODMAS represent calculation i.e. order of signs.

• V = VINCULUM MEANS BAR BRACKET AS (V)

• B = BRACKET ( ),{},[]

• O = OF

• D = DIVISION (÷)

• M = MULTIPLICATION (X) 

• A = ADDITION (+)

• S = SUBTRACTION (-)
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Simplify the expression 

98 ÷ 14 of 7 = ? 

1. 1

2. 49

3. 7

4. 28
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Simplify the expression 

4860 ÷ 12 = ? 

1. 45

2. 405

3. 450

4. 420
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Simplify the expression 

𝟗𝟏 𝒐𝒇 𝟏𝟑 𝒐𝒇 𝟕+𝟗𝟗

𝟔𝟐𝟓 −𝟔 ×𝟏𝟎𝟐
= ? 

1. 4

2. 5

3. 8

4. 10
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Simplify the expression 

𝟗𝟏 𝒐𝒇 𝟏𝟑 𝒐𝒇 𝟕+𝟗𝟗

𝟔𝟐𝟓 −𝟔 ×𝟏𝟎𝟐
= ? 

1. 4

2. 5

3. 8

4. 10
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Simplify the expression 

150% of 460 + 24% of 650 = ? 

1. 846

2. 486

3. 468

4. 436
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Simplify the expression 

11,111,111 ÷ 11  = ? 

1. 1010101

2. 10010101

3. 1010010

4. 1100111
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Simplify the expression   45−[36−{29−(25− 7 + 4)}]

1. 24

2. 22

3. 26

4. 28
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1. 0

2. 100

3. 160

4. 180

Find the value of [4 × 40 - (22 × 5 + 50) + 60 × 3 - {2 × (4 × 3 - 6) - 3 ×

4}]
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1. 75

2. 1

3. 0

4. 72

Find the value of:

√150 −√54−√24
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1. 2

2. 3

3. 1

4. 4

52 ÷ [36 – {24 – (32 – 54 ÷ 9 × 3)}] = ?
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1. 295

2. -259

3. -592

4. -293

The value of (-30) × [33 + (-23)] + (-203) ÷ (-29) is
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1. 5000

2. 200

3. 50

4. 500

What is the value of k (K का मान क्या है?)

3,000 –(1,000 ÷ 5) + 200 - 2,500 = k   
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1. 3

2. 5

3. 4

4. 2

What is the value of (का मान क्या है?)

-15+ 90 ÷ [89 - {9 x 8 +(33 - 3 × 7)}]
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1. 0.1

2. 2

3. 0.2

4. 0.3

In the following question What will come in place of Question mark ? 

ननम्न प्प्रश्न में रश्न निह्न ? के स्थान पर क्या आएगा? 

[3.5 × (2.3+4.9 -1.8) ÷ 0.6 ] ÷ 7 x 0.02 = ?2+ 0.05
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1. 14/3

2. 17/6

3. 12/5

4. 16/3

In the following question What will come in place of Question mark ? 

ननम्न प्प्रश्न में रश्न निह्न ? के स्थान पर क्या आएगा? 

3 ÷ 3 of 3 + 2 ÷ 4 + ( 4 × 2 – 2 ) ÷ 12 + 4 
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